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Problem Set 3

Due Thursday April 14th at the beginning of lecture

Draw all graphs and write your answers neatly in the space provided.  Show all of your work.  You may discuss questions you have with other students, but your answers need to be in your own words.  Answers that appear to be copied from another student will receive a grade of zero.

1. a.  Calculate the present value of going to college.  Assume the cost of tuition and books this year, and each of the next 3 years is $5,000.  Your opportunity cost in foregone earnings is $22,000 each of these years.  The benefits accrue over your lifetime, as an increase in earnings of $30,000 a year for 40 years starting in year 4.  What is the present value of a college education?  Assume the interest rate is 5%.  Show your work.  Remember to use the equation for a perpetuity to calculate the 40 years of benefits.

b.  What costs and benefits are left out of this calculation?

2. a.  Draw a budget constraint on a graph with income on the vertical axis, and hours of leisure on the horizontal axis.  Draw an indifference curve tangent to this budget constraint.  Consider a 25% income tax.  Draw the new budget constraint and indifference curve.  Carefully label tax revenue from this income tax.  

b. Define equivalent variation and label it on your graph. 
Tax Incidence

3. Assume supply and demand for televisions are:

P = 1600 – 1/2 QD

P = 100 + 1/4 QS
a) Draw these curves, and solve for equilibrium price and quantity.


b) Say the government decides to institute a $100 unit tax on televisions.  Each time a store sells a TV, it must send $100 to the government.  How would this affect the supply and demand functions?  (Remember, since this is a unit tax, we will see a parallel shift, and only the intercept will change).  Solve for the new quantity, the prices for buyers and sellers, and tax revenue.  Who bears the burden of the tax?  Illustrate on a new graph.  


c) Now the government decides that consumers should pay this tax instead.  Now when a consumer buys a TV, she must send $100 to the government.  How would this affect the supply and demand functions?  Solve for the new quantity, the prices for buyers and sellers, and tax revenue.  Who bears the burden of the tax?  Illustrate on a new graph.


